r| AF L Fiber Optic Cable Hardware

OPGW Single Dead End Lattice Tower
Configuration Assemblies

e AFL NO.
| OLTDE1 |-| DNOXXXX |
| I
Assembly Code Cable Spec. Number
TO SPLICE BOX
‘ Bill of Material
ITEM | DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D | REMARKS
1 Socket Eye Galvanized Steel | SE-BDE 1
2 Y-Clevis Ball Hot Link Galvanized Steel | YCBHL 1 Pin Dia. = 0.75" (19 mm)
3 Bolted Dead End Aluminum Determined by AFL | 1
(Included)
S AFL NO.
| OLTDE2 |-| DNOXXXX |
| I
Assembly Code Cable Spec. Number
TO SPLICE BOX
Bill of Material
ITEM | DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D | REMARKS
1 Link Plate Aluminum ODELP10 1
2 Y-Clevis Clevis Galvanized Steel | YCC 1 Pin Dia. = 0.75" (19 mm)
3 Bolted Dead End Aluminum Determined by AFL | 1
(Included)
Accessories enlarged for clarity
B © 2008, AFL, all rights reserved. PP-3-00035, Revision 1, 8.31.11
WWW'AFLQIObaI'com or (800) 235 3423 Specifications are subject to change without notice.

121



r| AFL Fiber Optic Cable Hardware

OPGW Single Dead End Lattice Tower
Configuration Assemblies (cont)

AFL NO.
OLTDE3 |-| DNOXXXX
I I
Assembly Code Cable Spec. Number
TO SPLICE BOX
Bill of Material
ITEM | DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D | REMARKS
1 Link Plate Aluminum ODELP10 1
2 Y-Clevis Clevis 90 Galvanized YCC-90 1 Pin Dia. = 0.75" (19 mm)
Steel
3 Bolted Dead End Aluminum Determined by AFL | 1
(Included)
Accessories enlarged for clarity
WWW AFLgIobaI com or (800) 235-3423 © 2008, AFL, all rights reserved. PP-3-00035, Revision 1, 8.31.11

Specifications are subject to change without notice.
122



r AFL

Fiber Optic Cable Hardware

OPGW Single Dead End Wood Pole/H-Frame
Configuration Assemblies

Bill of Material

AFL NO.

| owPDE1 |-| DNOXXXX |
I

Assembly Code

Cable Spec. Number

Bolted Deadend (Included)

Aluminum

Determined by AFL

ITEM | DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D | REMARKS

1 Socket Eye Galvanized Steel | SE-BDE 1

2 Y-Clevis Ball Hot Link Galvanized Steel | YCBHL 1 Pin Dia. = 0.75" (19 mm)
3 3/4" Shoulder Eye Bolt Galvanized Steel | SEB-3/4-14 1 Length = 14"

4 3/4" Washer Nut Galvanized Steel | WN-3/4 1

5 3/4" MF Lock Nut Galvanized Steel | LN-3/4 1

6 1

Bill of Material

AFL NO.

| OWPDE2 |-| DNOXXXX |
[

Assembly Code

Cable Spec. Number

Bolted Deadend (Included)

Aluminum

Determined by AFL

ITEM | DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D | REMARKS

1 Link Plate Aluminum ODELP10 1

2 Y-Clevis Clevis Galvanized Steel | YCC 1 Pin Dia. = 0.75" (19 mm)
3 3/4" Shoulder Eye Bolt Galvanized Steel | SEB-3/4-14 1 Length = 14"

4 3/4" Washer Nut Galvanized Steel | WN-3/4 1

5 3/4" MF Lock Nut Galvanized Steel | LN-3/4 1

6 1

Accessories enlarged for clarity

www.AFLglobal.com or (800) 235-3423

123

© 2008, AFL, all rights reserved. PP-3-00048, Revision 1, 8.31.11

Specifications are subject to change without notice.



r AFL

Fiber Optic Cable Hardware

OPGW Single Dead End Wood Pole/H-Frame

Configuration Assemblies (cont.

AFL NO.

| oWPDE3 |-| DNOXXXX |
I

Bolted Deadend (Included)

Aluminum

Determined by AFL

Assembly Code Cable Spec. Number

Bill of Material

ITEM | DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D | REMARKS

1 Socket Eye Galvanized Steel | SE-BDE 1

2 Y-Clevis Ball Hot Link Galvanized Steel | YCBHL 1 Pin Dia. = 0.75" (19 mm)
3 Eye Plate Galvanized Steel | EP1 1

4 3/4" Washer Nut Galvanized Steel | WN-3/4 2

5 3/4" MF Lock Nut Galvanized Steel | LN-3/4 2

6 3/4" MF Through Bolt Galvanized Steel | TB-3/4-14 2 Length = 14"

7 1

Bill of Material

AFL NO.

| OWPDE4 |-| DNOXXXX |
[

Assembly Code

Cable Spec. Number

ITEM | DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D | REMARKS

1 Link Plate Aluminum ODELP10 1

2 Y-Clevis Clevis Galvanized Steel | YCC 1 Pin Dia. = 0.75" (19 mm)
3 3/4" MF Through Bolt Galvanized Steel | TB-3/4-14 2 Length = 14"

4 3/4" Washer Nut Galvanized Steel | WN-3/4 2

5 3/4" MF Lock Nut Galvanized Steel | LN-3/4 2

6 Eye Plate Galvanized Steel | EP1 1

7 Bolted Deadend (Included) | Aluminum Determined by AFL | 1

Accessories enlarged for clarity

www.AFLglobal.com or (800) 235-3423

124

© 2008, AFL, all rights reserved. PP-3-00048, Revision 1, 8.31.11

Specifications are subject to change without notice.



r AFL

Fiber Optic Cable Hardware

OPGW Single Dead End Steel Pole/Drilled

Configuration Assemblies

/—
AFL NO.
3
4 N 2 /7
m@i:::% ——0 —7——"—————8 | OSPDE1_|-| DNOXXXX |
7 - N I I
5 6 Assembly Code Cable Spec. Number
Bill of Material
ITEM | DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D | REMARKS
1 Socket Eye Galvanized Steel | SE-BDE 1
2 Y-Clevis Ball Hot Link Galvanized Steel | YCBHL 1 Pin Dia. = 0.75" (19 mm)
— 3 3/4" Shoulder Eye Bolt Galvanized Steel | SEB-3/4-14 1 Length = 14"
4 3/4" Washer Nut Galvanized Steel | WN-3/4 1
5 3/4" MF Lock Nut Galvanized Steel | LN-3/4 1
6 Bolted Deadend (Included) | Aluminum Determined by AFL | 1
/—
4 3 AFL NO.
- ! 2! T | OSPDE2 |-| DNOXXXX |
[ﬂi]@f;’:%i ©_ 0 © [ F I I
5/ \ \6 Assembly Code Cable Spec. Number
2

Bill of Material

Bolted Deadend (Included)

Aluminum

Determined by AFL

ITEM | DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D | REMARKS

1 Link Plate Aluminum ODELP10 1

2 Y-Clevis Clevis Galvanized Steel | YCC 1 Pin Dia. = 0.75" (19 mm)
3 3/4" Shoulder Eye Bolt Galvanized Steel | SEB-3/4-14 1 Length = 14"

4 3/4" Washer Nut Galvanized Steel | WN-3/4 1

5 3/4" MF Lock Nut Galvanized Steel | LN-3/4 1

6 1

Accessories enlarged for clarity

www.AFLglobal.com or (800) 235-3423

125

© 2008, AFL, all rights reserved. PP-3-00040, Revision 1, 8.31.11

Specifications are subject to change without notice.



r| AF L Fiber Optic Cable Hardware

OPGW Single Dead End Steel Pole/Vang
Configuration Assemblies

/—
2 ! AFL NO.
e——1le
| OSPDE3 |-| DNOXXXX |
| I
Assembly Code Cable Spec. Number
Bill of Material
ITEM | DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D | REMARKS
1 Socket Eye Galvanized Steel | SE-BDE 1
2 Y-Clevis Ball Hot Link Galvanized Steel | YCBHL 1 Pin Dia. = 0.75" (19 mm)
3 Bolted Deadend (Included) | Aluminum Determined by AFL | 1
/—
1 AFL NO.
yd LD _gn _On gn on am v o,
[ [ < F | osPDE4 |-| DNOXXXX |
| I
2 3 Assembly Code Cable Spec. Number
Bill of Material
ITEM | DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D | REMARKS
1 Link Plate Aluminum ODELP10 1
2 Y-Clevis Clevis Galvanized Steel | YCC 1 Pin Dia. = 0.75" (19 mm)
3 Bolted Deadend (Included) | Aluminum Determined by AFL | 1
Accessories enlarged for clarity
WWW.AFLglobaI.com or (800) 235-3423 © 2008, AFL, all rights reserved. PP-3-00040, Revision 1, 8.31.11

Specifications are subject to change without notice.
126



r| AFL Fiber Optic Cable Hardware

OPGW Single Dead End Steel Pole/Vang
Configuration Assemblies (cont)

/—
7 AFL NO.
yd mHmHmHmHmHmHm
© [ S * [ osPDE5 |-[DNOXXXX |
| I
2 3 Assembly Code Cable Spec. Number
Bill of Material
ITEM | DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D | REMARKS
1 Link Plate Aluminum ODELP10 1
2 Y-Clevis Clevis 90° Galvanized Steel | YCC-90 1 Pin Dia. = 0.75" (19 mm)
3 Bolted Deadend (Included) | Aluminum Determined by AFL | 1
Accessories enlarged for clarity
WWW.AFLglobaI.com or (800) 235-3423 © 2008, AFL, all rights reserved. PP-3-00040, Revision 1, 8.31.11

Specifications are subject to change without notice.
127



r| AF L Fiber Optic Cable Hardware

OPGW Double Dead End Lattice
Tower Configuration Assemblies

—— e~ O B2 sSESsss - AFL NO.
| oLTbD1 |- | DNOXXXX |
| I
Assembly Code Cable Spec.
Number
TO SPLICE BOX
V4 \
Bill of Material
ITEM | DESCRIPTION MATERIAL | AFL OR DWG. NO. | REQ'D | REMARKS

1 Socket Eye Galvanized | SE-BDE 2
Steel

2 Y-Clevis Ball Hot Link Galvanized | YCBHL 2 Pin Dia. = 0.75" (19 mm)
Steel

3 | Bolted Dead End (Included) | Aluminum | Determined by AFL 2

AFL NO.

| oLTDD2 |-| DNOXXXX |
[ [

Assembly Code Cable Spec.
Number
Bill of Material

ITEM | DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D | REMARKS

1 Link Plate Aluminum ODELP10 2

2 Y-Clevis Clevis Galvanized Steel | YCC 2 Pin Dia. = 0.75" (19 mm)
3 Bolted Dead End Aluminum Determined by AFL | 2

(Included)

Accessories enlarged for clarity

_ © 2008, AFL, all rights reserved. PP-3-00033, Revision 1, 8.31.11
WWW'AFLQIObaI'com or (800) 235 3423 Specifications are subject to change without notice.

128



r| AFL Fiber Optic Cable Hardware

OPGW Double Dead End Lattice
Tower Configuration Assemblies (cont)

AFL NO.

| oLTDD3 |-| DNOXXXX |
I I

Assembly Code Cable Spec. Number
Bill of Material
ITEM | DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D | REMARKS
1 Link Plate Aluminum ODELP10 2
2 Y-Clevis Clevis 90 Galvanized YCC-90 2 Pin Dia. = 0.75" (19 mm)
Steel
3 | Bolted Dead End Aluminum Determined by AFL 2
(Included)
Accessories enlarged for clarity
_ © 2008, AFL, all rights reserved. PP-3-00033, Revision 1, 8.31.11
WWW'AFLQIObaI'com or (800) 235 3423 Specifications are subject to change without notice.

129



Fiber Optic Cable Hardware

r AFL

OPGW Double Dead End Wood Pole/H-Frame
Configuration Assemblies

AFL NO.

| owpPDD1 |-| DNOXXXX |
I

Assembly Code Cable Spec.
Number
TO SPLICE BOX
4
Bill of Material
ITEM | DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D | REMARKS
1 Socket Eye Galvanized Steel | SE-BDE 2
2 Y-Clevis Ball Hot Link Galvanized Steel | YCBHL 2 Pin Dia. = 0.75"
(19 mm)
3 3/4" Shoulder Eye Bolt Galvanized Steel | SEB-3/4-14 2 Length = 14"
4 3/4" Washer Nut Galvanized Steel | WN-3/4 2
5 3/4" MF Lock Nut Galvanized Steel | LN-3/4 2
6 Bolted Deadend (Included) | Aluminum Determined by AFL |2
<
54 3
ey o e o
Wb g ) AFL NO.
S e
S\ | | | owpPDD2 |-| DNOXXXX |
| I
Assembly Code Cable Spec. Number
TO SPLICE BOX
TO SPLICE BOX /
\
Bill of Material
ITEM | DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D | REMARKS
1 Link Plate Aluminum ODELP10 2
2 Y-Clevis Clevis Galvanized Steel | YCC 2 Pin Dia. = 0.75"
(19 mm)
3 3/4" Shoulder Eye Bolt Galvanized Steel | SEB-3/4-14 2
4 3/4" Washer Nut Galvanized Steel | WN-3/4 2
5 3/4" MF Lock Nut Galvanized Steel | LN-3/4 2
6 Bolted Deadend (Included) | Aluminum Determined by AFL | 2

Accessories enlarged for clarity

www.AFLglobal.com or (800) 235-3423

130

© 2008, AFL, all rights reserved. PP-3-00046, Revision 1, 8.31.11
Specifications are subject to change without notice.



r AFL

Fiber Optic Cable Hardware

OPGW Double Dead End Wood Pole/H-Frame
Configuration Assemblies (cont.

y TO SPLICE BOX

AFL NO.

| owPDD3 |-| DNOXXXX |

Assembly Code

Cable Spec. Number

TO SPLICE BOX - .
\ Bill of Material
ITEM | DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D | REMARKS
1 Socket Eye Galvanized Steel | SE-BDE 2
2 Y-Clevis Ball Hot Link Galvanized Steel | YCBHL 2 Pin Dia. = 0.75"
(19 mm)
3 Eye Plate Galvanized Steel | EP1 2
4 3/4" Lock Washer Nut Galvanized Steel | LW-3/4 4
5 3/4" Nut Galvanized Steel | HN-3/4 4
6 3/4" Flat Washer Galvanized Steel | FW -3/4 4
7 3/4" Through Bolt Galvanized Steel | TB-3/4-14 4 Length = 14"
8 Bolted Deadend (Included) | Aluminum Determined by AFL | 2
5 6 7
| o oo omomomom AFL NO.
T I
Y [ owPDD4 |-[ DNOXXXX |
I I
e e e i e S Assembly Code Cable Spec. Number
[ |
TO SPLICE BOX
TO SPLICE BOX Bill of Material
ITEM | DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D | REMARKS
1 Link Plate Aluminum ODELP10 2
2 Y-Clevis Clevis Galvanized Steel | YCC 2 Pin Dia. = 0.75"
(19 mm)
3 3/4" Through Bolt Galvanized Steel | TB-3/4-14 4 Length = 14"
4 3/4" Flat Washer Galvanized Steel | FN-3/4 4
5 3/4" Nut Galvanized Steel | HN-3/4 4
6 3/4" Lock Washer Galvanized Steel | LW-3/4 4
7 Eye Plate Galvanized Steel | EP1 2
8 Bolted Deadend Aluminum Determined by AFL | 2
(Included)

Accessories enlarged for clarity

© 2008, AFL, all rights reserved. PP-3-00046, Revision 1, 8.31.11
Specifications are subject to change without notice.

www.AFLglobal.com or (800) 235-3423
131



r| AF L Fiber Optic Cable Hardware

OPGW Double Dead End Wood Pole/H-Frame
Configuration Assemblies (cont)

AFL NO.

OWPDD5 |- | DNOXXXX
I I

iHHHHHEHE

Assembly Code Cable Spec. Number
Bill of Material
ITEM | DESCRIPTION MATERIAL AFL OR DWG. NO. |REQ'D | REMARKS
1| Link Plate Aluminum ODELP10 2
2 | Y-Clevis Clevis 90° Galvanized Steel | YCC-90 2 Pin Dia. = 0.75"
(19 mm)
3 | 3/4" Through Bolt Galvanized Steel | TB-3/4-14 4 Length = 14"
4 | 3/4" Flat Washer Galvanized Steel | FN-3/4 4
5 |3/4" Nut Galvanized Steel | HN-3/4 4
6 | 3/4" Lock Washer Galvanized Steel | LW-3/4 4
7 | Eye Plate Galvanized Steel | EP1 2
8 | Bolted Deadend (Included) | Aluminum Determined by AFL 2
Accessories enlarged for clarity
B © 2008, AFL, all rights reserved. PP-3-00046, Revision 1, 8.31.11
WWW'AFLQIObaI'com or (800) 235 3423 Specifications are subject to change without notice.

132



r| AF L Fiber Optic Cable Hardware

OPGW Double Dead End Steel Pole/Drilled
Configuration Assemblies

eymeg e
5 ! AFL NO.
6
N | oSPDD1 |-| DNOXXXX |
[ 1 | |
Assembly Code Cable Spec. Number
, To Splice Box
To Splice Bo.
Bill of Material
ITEM | DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D | REMARKS
1 Socket Eye Galvanized Steel | SE-BDE 2
2 Y-Clevis Ball Hot Link Galvanized Steel | YCBHL 2 Pin Dia. = 0.75" (19 mm)
3 3/4" Shoulder Eye Bolt Galvanized Steel | SEB-3/4-14 2
4 3/4" Washer Nut Galvanized Steel | WN-3/4 2
5 3/4" MF Lock Nut Galvanized Steel | LN-3/4 2
6 Bolted Deadend (Included) | Aluminum Determined by AFL | 2
4 » o o oo oo a
= i AFL NO.
6
e | osPDD2 |-| DNOXXXX |
1 © | I
Assembly Code Cable Spec. Number
To Splice Box
To Splice Box 1
Bill of Material
ITEM | DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D | REMARKS
1 Link Plate Aluminum ODELP10 2
2 Y-Clevis Clevis Galvanized Steel | YCC 2 Pin Dia. = 0.75" (19 mm)
3 3/4" Shoulder Eye Bolt Galvanized Steel | SEB-3/4-14 2
4 3/4" Washer Nut Galvanized Steel | WN-3/4 2
5 3/4" MF Lock Nut Galvanized Steel | LN-3/4 2
6 Bolted Deadend (Included) | Aluminum Determined by AFL | 2
Accessories enlarged for clarity
_ © 2008, AFL, all rights reserved. PP-3-00038, Revision 1, 8.31.11
WWW'AFLQIObaI'com or (800) 235-3423 Specifications are subject to change without notice.

133



r AFL

Fiber Optic Cable Hardware

OPGW Double Dead End Steel Pole/Vang
Configuration Assemblies

TO SPLICE BOX 1\

AFL NO.

| osPDD3 |-| DNOXXXX |
| I

Assembly Code Cable Spec. Number

TO SPLICE BOX

Bill of Material

ITEM | DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D | REMARKS
1 Socket Eye Galvanized Steel | SE-BDE 2
2 Y-Clevis Ball Hot Link Galvanized Steel | YCBHL 2 Pin Dia. = 0.75" (19 mm)
3 Bolted Deadend (Included) | Aluminum Determined by AFL | 2
2 1 3
P e S e S S S S SO m
i 1 T I AFL NO.
| osPDD4 |-| DNOXXXX |
I I
Assembly Code Cable Spec. Number
TO SPLICE 80X y TO SPLICE BOX
Bill of Material
ITEM | DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D | REMARKS
1 Link Plate Aluminum ODELP10 2
2 Y-Clevis Clevis Galvanized Steel | YCC 2 Pin Dia. = 0.75" (19 mm)
3 Bolted Deadend (Included) | Aluminum Determined by AFL | 2

Accessories enlarged for clarity

www.AFLglobal.com or (800) 235-3423

© 2008, AFL, all rights reserved. PP-3-00038, Revision 1, 8.31.11
Specifications are subject to change without notice.

134



r| AFL Fiber Optic Cable Hardware

OPGW Double Dead End Steel Pole/Vang
Configuration Assemblies (cont)

P e S ' ' i s SO
i —= AFL NO.
3
| OSPDD5 |-| DNOXXXX |
I I
Assembly Code Cable Spec. Number
TO SPLICE BOX [T T //p TOSPLICE BOX
Bill of Material
ITEM | DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D | REMARKS
1 Link Plate Aluminum ODELP10 2
2 Y-Clevis Clevis 90° Galvanized Steel | YCC-90 2 Pin Dia. = 0.75" (19 mm)
3 Bolted Deadend (Included) | Aluminum Determined by AFL | 2
Accessories enlarged for clarity
_ © 2008, AFL, all rights reserved. PP-3-00038, Revision 1, 8.31.11
WWW'AFLQIObaI'com or (800) 235-3423 Specifications are subject to change without notice.

135



r AFL

Fiber Optic Cable Hardware

OPGW Single Suspension Lattice
Tower Configuration Assemblies

Bill of Material

AFL NO.
| oLrsP1 |-| XXX/XXX |
[ [
Assembly Code SUME Range Code

ITEM

DESCRIPTION

MATERIAL

AFL OR DWG. NO.

REQ'D

REMARKS

Assembly (Included)

1 Y-Clevis Ball Galvanized Steel | YCBS 1 Pin Dia. = 0.75" (19 mm)
2 Socket Eye Galvanized Steel | SE-SC 1
3 Suspension Clamp Aluminum SUME XXX/XXX 1
Assembly (Included)
AFL NO.
| oLrsp2 |-| XXX/XXX |
| I
Assembly Code SUME Range Code
Bill of Material
ITEM | DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D | REMARKS
1 Y-Clevis Eye 90° Galvanized Steel | YCE-90-SC 1 Pin Dia. = 0.75" (19 mm)
2 Suspension Clamp Aluminum SUME XXX/XXX 1

Accessories enlarged for clarity

www.AFLglobal.com or (800) 235-3423

136

© 2008, AFL, all rights reserved. PP-3-00036, Revision 2, 7.23.12
Specifications are subject to change without notice.




r| AFL Fiber Optic Cable Hardware

OPGW Single Suspension Lattice
Tower Configuration Assemblies (cont)

N 7\@ T AFL NO.

| oLrsP3 |-| XXX/XXX |
I I
Assembly Code SUME Range Code
Bill of Material
ITEM | DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D | REMARKS
1 Y-Clevis Eye Galvanized Steel | YC90E-750-1750 | 1 Pin Dia. = 0.75" (19 mm)
2 Suspension Clamp Aluminum SUME XXX/XXX 1
Assembly (Included)
Accessories enlarged for clarity
B © 2008, AFL, all rights reserved. PP-3-00036, Revision 2, 7.23.12
WWW'AFLQIObaI'com or (800) 235 3423 Specifications are subject to change without notice.

137



Fiber Optic Cable Hardware

r AFL

OPGW Single Suspension Wood Pole/H-Frame
Configuration Assemblies

34.0" APPROX. (863 MM)

3.88" APPROX.

Assembly Code

3.0" (76 MM)
3 T
~ 2
, pom 0.63" (16 MM) AFL NO.
512" [ owpsP1 |-[ Xx0(xxx |
(131 MM) [ [

SUME Range Code

3.88" APPROX.

ARMOR ROD
(INCLUDED WITH
SUSPENSION CLAMP)

VIEW Y-Y

Bill of Material

ITEM | DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D | REMARKS
1 Socket Eye Galvanized Steel | SE-SC 1
2 Y-Clevis Ball Galvanized Steel | YCBS 1 Pin Dia.=0.75" (19mm)
3 Shield Wire Support Bracket Galvanized Steel | SFOSB-WP-14 1 14" Bolt,
0.63" (16 mm) Dia.
4 Suspension Clamp Assembly Aluminum SUME XXX/XXX 1
(included)
34.0" APPROX. (863 MM)
3.0" (76 MM)
2 I 2
1
D= 063" (16 MM,
2.81" @ 3 (16 MM) — AFL NO.
(71 MM) y.
© OWPSP2 |-| XXX/XXX
, | I
= ; Assembly Code SUME Range Code
G® \ -
ARMOR ROD
(INCLUDED WITH =~ —~
SUSPENSION CLAMP) VIEW YoY

Bill of Material

ITEM | DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D | REMARKS
1 Y-Clevis Eye 90° Galvanized Steel | YC90E-750-1750 | 1 Pin Dia. = 0.75" (19 mm)
2 Shield Wire Support Bracket | Galvanized Steel | SFOSB-WP-14 1 14" Bolt,

0.63" (16 mm) Dia.

SUME XXX/XXX

3 Susp. Damp Assembley Aluminum

(included)

Accessories enlarged for clarity

© 2008, AFL, all rights reserved. PP-3-00049, Revision 2, 5.17.16
Specifications are subject to change without notice.

www.AFLglobal.com or (800) 235-3423
138



r| AF L Fiber Optic Cable Hardware

OPGW Single Suspension Steel Pole/Drilled
Configuration Assembly

34.0" APPROX. (863 MM)

3.0" (76 MM)
2 T AFL NO.
. ‘ o= 0.63" (16 MM) | | | |
s OSPSP1 = XXX/XXX
S A/ | I
0 2 \4 4 Assembly Code SUME Range Code
S
SRS
"y & = —
/RMOR ROD -
(INCLUDED WITH VIEW Y-Y
SUSPENSION CLAMP)
Bill of Material
ITEM | DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D | REMARKS
1 Socket Eye Galvanized Steel | SE-SC 1
2 Y-Clevis Ball Galvanized Steel | YCBS 1 Pin Dia. = 0.75" (19 mm)

3 Shield Wire Support Bracket | Galvanized Steel | SFOSB-WP-14

—

14" Bolt,
0.63" (16 mm) Dia.

4 Suspension Clamp Aluminum SUME XXX/XXX 1
Assembly (Included)
34.0" APPROX. (863 MM)
3.0" (76 MM,
, (76 MM) AFL NO.
\ 7
bo= 0.63" (16 MM) OSPSP2 | - | XXX/XXX
2.81" 3 | |
Assembly Code SUME Range Code
)
o
m
ARMOR ROD
(INCLUDED WITH
SUSPENSION CLAMP) VIEW Y-Y
Bill of Material
ITEM | DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D | REMARKS
1 Y-Clevis Eye 90° Galvanized Steel | YC90E-750-1750 | 1 Pin Dia. = 0.75" (19 mm)

2 Shield Wire Support Bracket | Galvanized Steel | SFOSB-WP-14

14" Bolt,
0.63" (16 mm) Dia.

3 Suspension Clamp Aluminum SUME XXX/XXX 1
Assembly (Included)
Accessories enlarged for clarity
_ © 2008, AFL, all rights reserved. PP-3-00041, Revision 3, 5.17.16
WWW'AFLQIObaI'com or (800) 235 3423 Specifications are subject to change without notice.

139



r AFL

Fiber Optic Cable Hardware

OPGW Single Suspension Steel Pole/Vang
Configuration Assemblies

Bill of Material

AFL NO.
| osPsP3 |-| XXX/XXX |
[ [
Assembly Code SUME Range Code

3.88" APPROX.

ITEM | DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D | REMARKS
1 Socket Eye Galvanized Steel | SE-SC 1
2 Y-Clevis Ball Galvanized Steel | YCBS 1 Pin Dia. = 0.75" (19 mm)
3 Suspension Clamp Aluminum SUME XXX/XXX 1
Assembly (Included)
34.0" APPROX. (863 MM)
— AFL NO.
OSPSP4 |- XXX/XXX
I I
Assembly Code SUME Range Code

ARMOR ROD
(INCLUDED WITH
SUSPENSION CLAMP) ~ VIEW Y-Y

Bill of Material

ITEM | DESCRIPTION

MATERIAL

AFL OR DWG. NO.

REQ'D

REMARKS

1 Y-Clevis Eye 90°

Galvanized Steel

YC90E-750-1750

—

Pin Dia. = 0.75" (19 mm)

2 Suspension Clamp
Assembly (Included)

Aluminum

SUME XXX/XXX

Accessories enlarged for clarity

www.AFLglobal.com or (800) 235-3423

140

© 2008, AFL, all rights reserved. PP-3-00041, Revision 3, 5.17.16
Specifications are subject to change without notice.



3.88" APPROX.

r| AF L Fiber Optic Cable Hardware

OPGW Single Suspension Steel Pole/Vang
Configuration Assemblies (cont.

34.0" APPROX. (863 MM)

AFL NO.
| ospsp5 |-| XxXx/xxx |
| I
Assembly Code SUME Range Code
ARMOR ROD
(INCLUDED WITH Bill of Material
SUSPENSION CLAMP)
ITEM | DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D | REMARKS
1 Y-Clevis Eye Galvanized Steel | YCS-11 1 Pin Dia. = 0.75" (19 mm)
2 Suspension Clamp Aluminum SUME XXX/XXX 1
Assembly (Included)
34.0" APPROX. (863 MM) BANDING MATERIAL

SUPPLIED BY

CUSTOMER
1y AFL NO.

287 [ [ osPsP6 |-[ XXX/XXX |
5 (71 MM) [ I
% S Assembly Code SUME Range Code
<3
= o))
o ¥
<)
™ \
ARMOR ROD
(INCLUDED WITH
SUSPENSION CLAMP) VIEW Y-Y
Bill of Material

ITEM | DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D | REMARKS

1 Y-Clevis Eye 90° Galvanized Steel | YC90E-750-1750 |1 Pin Dia. = 0.75" (19mm)

2 Suspension Clamp Aluminum SUME XXX/XXX 1

Assembly (Included)
3 Eye Bolt Galvanized Steel
4 Banding Adaptor Aluminum
Accessories enlarged for clarity
_ © 2008, AFL, all rights reserved. PP-3-00041, Revision 3, 5.17.16
WWW'AFLQIObaI'com or (800) 235 3423 Specifications are subject to change without notice.

141



r AFL

Fiber Optic Cable Hardware

OPGW Double Suspension Lattice
Tower Configuration Assemblies

Bill of Material

AFL NO.
| oLrss1 |-| XXx/Xxx |
[ I
Assembly Code SUME Range Code

ITEM | DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D | REMARKS
1 Y-Clevis Ball Galvanized Steel | YCBS 1 Pin Dia. = 0.75" (19 mm)
2 Socket Clevis Galvanized Steel | SC-YP 1
3 Clevis Eye Galvanized Steel | CE-SC 2
4 Yoke Plate Galvanized Steel | SUMEYP 1
5 Double Suspension Aluminum ODSME XXX/XXX | 1
(included)
} N ~ e AFL NO.
d | oLrss2 |-| xxx/xxx |
5 O] O] | |
() © Assembly Code SUME Range Code
Bill of Material
ITEM | DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D | REMARKS
1 Y-Clevis Clevis 90° Galvanized Steel | YCC-90 1 Pin Dia. = 0.75" (19 mm)
2 Clevis Eye Alum./Gal. Steel | CE-SC 2
3 Yoke Plate Alum./Gal. Steel | SUMEYP 1
4 Double Suspension Alum./Gal. Steel | ODSME XXX/XXX |1
(included)

Accessories enlarged for clarity

www.AFLglobal.com or (800) 235-3423
142

© 2008, AFL, all rights reserved. PP-3-00034, Revision 1, 8.31.11
Specifications are subject to change without notice.



r| AFL Fiber Optic Cable Hardware

OPGW Double Suspension Lattice
Tower Configuration Assemblies (cont)

NS \ P AFL NO.

3 © | oLrss3 |- xxx/xxx |
5 O O I I
- Assembly Code SUME Range Code

Bill of Material

ITEM | DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D | REMARKS
1 Y-Clevis Clevis Galvanized Steel | YCC 1 Pin Dia. = 0.75" (19 mm)
2 Clevis Eye Galvanized Steel | CE-SC 2
3 Yoke Plate Galvanized Steel | SUMEYP 1
4 Double Suspension Aluminum ODSME XXX/XXX | 1
(included)

Accessories enlarged for clarity

_ © 2008, AFL, all rights reserved. PP-3-00034, Revision 1, 8.31.11
WWW'AFLQIObaI'com or (800) 235-3423 Specifications are subject to change without notice.
143



r| AF L Fiber Optic Cable Hardware

OPGW Double Suspension Wood Pole/H-Frame
Configuration Assemblies

18.00" APPROX. 3.0" (76 MM)
(457 MM) v
32 == AFL NO.
2 — "
B hom 0.63" (16 MM)
OWPSS1 |-| XXX/XXX |
I I
Assembly Code SUME Range Code
6
<
1 48.00" APPROX. 1 VIEW Y-Y
(1219 MM)
Bill of Material
ITEM | DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D | REMARKS
1 Socket Clevis Galvanized Steel | SC-YP 1
2 Y-Clevis Ball Galvanized Steel | YCBS 1 Pin Dia. = 0.75" (19 mm)

3 Shield Wire Support Bracket | Galvanized Steel | SFOSB-WP-14

—

14" Bolt,
0.63" (16 mm) Dia.

4 Clevis Eye Galvanized Steel | CE-SC 2
Yoke Plate Galvanized Steel | SUMEYP 1
6 Double Suspension (incl.) Aluminum ODSME XXX/XXX | 1
/ 18.00" APPROX. Y -]
(457 MM) 3.0" (76 MM)
- AFL NO.
pom 0.63 (16 MM) [ oyypss2 |- [ XXXIXXX |
| I
Assembly Code SUME Range Code
—
48.00" APPROX. VIEW Y-y
‘ (1219 MM) ‘ I
Bill of Material
ITEM | DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D | REMARKS
1 Shield Wire Support Bracket | Galvanized Steel | SFOSB-WP-14 1 14" Bolt,
0.63" (16 mm) Dia.
2 Y-Clevis Clevis 90° Galvanized Steel | YCC-90 1 Pin Dia. = 0.75" (19 mm)
3 Clevis Eye Galvanized Steel | CE-SC 2
4 Yoke Plate Galvanized Steel | SUMEYP 1
5 Double Suspension (Included) | Aluminum ODSME XXX/XXX | 1
Accessories enlarged for clarity
_ © 2008, AFL, all rights reserved. PP-3-00047, Revision 2, 5.17.16
WWW'AFLQIObaI'com or (800) 235 3423 Specifications are subject to change without notice.

144



r AFL

Fiber Optic Cable Hardware

OPGW Double Suspension Steel Pole/Drilled
Configuration Assembly

18.00" APPROX.
(457 MM)

3.0" (76 MM)

v -
Pom 0.63" (16 MM) AFL NO.
0OSPSS1 |- XXx/xxx
I I
Assembly Code SUME Range Code

—
\ 48.00" APPROX. \ VIEW Y-y
‘ (1219 MM) ‘
Bill of Material
ITEM | DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D | REMARKS
1 Socket Clevis Galvanized Steel | SC-YP 1
2 Y-Clevis Ball Galvanized Steel | YCBS 1 Pin Dia. = 0.75" (19 mm)
3 Shield Wire Support Bracket | Galvanized Steel | SFOSB-WP-14 1 14" Bolt,
0.63" (16 mm) Dia.
4 Clevis Eye Galvanized Steel | CE-SC 2
5 Yoke Plate Galvanized Steel | SUMEYP 1
6 Double Suspension (incl.) Aluminum ODSME XXX/XXX |1
18.00" APPROX. v -t
1 (457 MM) 3.0" (76 MM)
e AFL NO.
pom 063" (6MM) | OSPSS2 |-| XXX/XXX |
I I
Assembly Code SUME Range Code

48.00" APPROX. VIEW Y-Y
‘ (1219 MM)
Bill of Material
ITEM | DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D | REMARKS
1 Shield Wire Support Bracket | Galvanized Steel | SFOSB-WP-14 1 14" Bolt,

0.63" (16 mm) Dia.

2 Y-Clevis Clevis 90° Galvanized Steel | YCC-90 1 Pin Dia. = 0.75" (19 mm)
3 Clevis Eye Galvanized Steel | CE-SC 2
4 Yoke Plate Galvanized Steel | SUMEYP 1
5 Double Suspension (incl.) Aluminum ODSME XXX/XXX |1

Accessories enlarged for clarity

www.AFLglobal.com or (800) 235-3423
145

© 2008, AFL, all rights reserved. PP-3-00039, Revision 3, 5.17.16
Specifications are subject to change without notice.



r| AF L Fiber Optic Cable Hardware

OPGW Double Suspension Steel Pole/Vang
Configuration Assembly

18.0" APPROX. (457 MM)

AFL NO.
| ospssa |-| xxx/xxx |
| I
Assembly Code SUME Range Code
|
| 48.0" APPROX. (1219 MM) | VIEW Y-Y
Bill of Material
ITEM | DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D | REMARKS
1 Y-Clevis Clevis 90° Galvanized Steel | YCC-90 1 Pin Dia. = 0.75" (19 mm)
2 Clevis Eye Galvanized Steel | CE-SC 2
3 Yoke Plate Galvanized Steel | SUMEYP 1
4 Double Suspension (included) | Aluminum ODSME XXX/XXX | 1
18.0" APPROX. (457 MM)
1
AFL NO.
| ospss5 |-| xxx/xxx |
| I
Assembly Code SUME Range Code
& 48.0" APPROX. (1219 MM) N -
‘ ‘ VIEW Y-y
Bill of Material
ITEM | DESCRIPTION MATERIAL AFL OR DWG. NO. | REQ'D | REMARKS
1 Y-Clevis Clevis Galvanized Steel | YCC 1 Pin Dia. = 0.75" (19 mm)
2 Clevis Eye Galvanized Steel | CE-SC 2
3 Yoke Plate Galvanized Steel | SUMEYP 1
4 Double Suspension (Included) | Aluminum ODSME XXX/XXX | 1
Accessories enlarged for clarity
_ © 2008, AFL, all rights reserved. PP-3-00039, Revision 3, 5.17.16
WWW'AFLQIObaI'com or (800) 235 3423 Specifications are subject to change without notice.

146



